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(1) —12ab—20b° (2) 15a*+a—2 (3) z*+6zx+5
4) a®*—8a+16 (5) 25—z? 6) 4a®—12ab+9b*—6a +9b —4
(1) (Ba+5b)X(—4b)=3a X (—4b)+5b X (—4b)
=—12ab —20b2
2) (5a+2)3a—1)=15a%*—5a +6a —2
=15a%+a—2
3) (x+1)z+5 =z*+(1+52+1x5
=z24+62+5
(4) (@—4?=a’—2x4xa+4?
=a?—8a+16
5) (5+z)5—x)=5—z2
=25—z%
6) (2a—3b+1)2a—3b—4)={(2a —3b)+1}{(2a —3b)—4}
=(2a —3b)*—3(2a —3b)—4
=4a%—12ab+ 90> —6a +9b — 4

ﬁ?% (1) 2xy(bz—1) 2) (x—3)Nx—4) (3) (x+3)z+6)
2
@) @—%) 6) 8+t(8—t)  (6) (z+5)z+8)
(1) 10x% —2zy =2zy X5z —2ry X 1
=2xy(bz—1)
2) 22=Tz+12=2’4+{(=3)+(—Dz+(=3)x(—4)
=(x—3)x—4)

(3) 2z +92+18=(x+3)z+6)

e 1 _ 5 5,1 <l2
4) =z x+4—x 2><2><x+ 2>

2
-3
(5) 64—t2=82—¢*
=(8+1)(8—1)
6) (z+3)°+7x+3)+10={(x+3)+2)}{(x+3)+5}

=(z+5)(x+8)
#Za (1) 249  (2) 2601
(1) 52x48=(50+2)50—2)
=502—-22
=2500—4
=2496
(2) 512=(50+1)
=50%4+2%x1x50+12
=2500+100+1
=2601
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225 2 RABAET D & 225=3X3X5X5
3X3IX5X5=(3%X5)X(3%x5)=15> THEM"5, 2251% 15D 2 FITRXD,



